CH@Bismon

Communications Products

Installation

The Best Way Networking Makes Everything Better




http://www.bismon.com-info@bismon.com

“The Best Way Networking Makes Everything Better”

o r . o
Installation r Bismorn
Accessories
uPVC WIRE WAY uPVC TRUNKING
— uPVC (Tiny Duct System) :ﬂ Telephone Cable Duct (PRI Type T)
swiauangih SwIAUaEINSANN
" Size (WxH) @102 u. Size (HxW) g0 1 0.
ER-816 21x10 mm. 100 PRIT1 6x13 mm. 100
ER-816T 21x10 mm. 100 PRI T2 9x15 mm. 100
(with tape) PRI T3 10x25 mm. 100
PRI T4 15x25 mm. 50
PRI T5 16.5x28 mm. 50
PRI T6 20x30 mm. 50
ClpLock Systong uPVC (Mini Trunking System) Wire Way (PRI Type WW)
£ — SVIauaEnginiin swifuangin luunu
@ é \ Part # Dscrlptlon Pack - mm
= E Size (WxH) g0 2 u. Size (HxW) &0 2 u.
§ § ER-810 16x16 mm. 100 WW 2020 20x20 mm. 30
3 ER-820 2516 mm. 50 ! WW3030  30x30 mm. 20
g 8 ER-819 38x16 mm. 40 WW 4030 40x30 mm. 20
g é ER-815 25x25 mm. 20 WW 4040 40x40 mm. 20
'-g 3 ER-818 38x25 mm. 20 WW 4060 40x60 mm. 20
=g WW6E040  60x40 mm. 20
‘g ;1 WW 6060  60x60 mm. 10
82 Clip Lock System Wire Duct (PRI Type WD)
I r—'nl uPVC (Maxi Duct System) M swifuanain Iuulusv
swiauensiiin Part # Description Pack
[ Part# | Description | Pack | Size (HXW) €10 2 L.
= Size (WxH) 10 29 L. PRIWD2020 20x20 mm. 30
“"EL._“. o ER-822 50x50 mm. 9 M PRIWD3030 30x30 mm. 20
- ER-832 75x50 mm. 6 PRI WD4030 40x30 mm. 20
ER-842 100x50 mm. 4 PRI WD4040 40x40 mm. 20
ER-844 100x100 mm. 2 PRIWD4060 40x60 mm. 20
ER-864 150x100 mm. 2 PRIWD6040 60x40 mm. 20
PRIWD6060 60x60 mm. 10
PRIWD6080 60x80 mm. 10
Wire Way for Decoration (PRI Type DD)
— uPVG (Double Compartments System) swiuanai 8nsuviuanicv
SwauaIEA g [~ part# | Desorpion | Pack |
[ Part# | Description | Pack | Size (HxW) 102 L.
Size (WxH) o 2 U. PRIDD1225 12x25 mm. 50
ER-817/2  40x20 mm. 30 - PRIDD1632 16x32 mm. 30
ER-8132  60x20 mm. 20 PRIDD2040  20x40 mm. 30
Floor Duct (PRI Type FD)
swiIAUaNaiNsANWA IVUOWIRU
:j [ Part# | Description | _Pack |
P — uPVC (Floor Duct System) Size (HXW) €102 L.
swiauangAuuRU FD20 7x20 mm. 50
[ Part# | Description | Pack | j FD30 830 mim. I
Size (WxH) &0 2 u. FD40 10.4x40 mm. 30
CT-50 50x11 mm. 40 FD50 12x50 mm. 20
CT-80 80x17 mm. 20 FD52 12x52 mm. 20
Air Duct (PRI Type AD)
swiAuangin Ia:nonosauo
! BTG
Size (HxW) e102 U
AD5050 50x50 mm. 20
AD5075 50x75 mm. 10
AD50100 50x100 mm. 10

158 esdnslunsaauwladalifesuddlimsussmih aaenauaRanaafiinaannisia.
Specification Subject to change without prior Notice.

Dealer for call
dainuAKLe Insaeumu&ouacldn Tns ; 0-2563-5000

ount to order tel 0




“The Best Way Networking Makes Everything Better”

.. Bismon

Communications Products

uPVC CONDUIT (White)

http://www.bismon.com-info @bismon.com

Installation

Accessories

o o ®
HaGCOoO noasveRdBLsUaKLIAKSUSoeaEiN (U10)

| CnEErTT—
/ / BSS16  viansaging 11a 16 WX, 819 2.9 |, :
BSS20  viamnsagind 10a 20 WX, 619 2.9 |, - 'ﬂ-

BSS25  viansagind 10a 25 WM. 819 2.9 |,
BSS32  viansaging 10m 32 WM. 819 2.9 |, '-‘\y- "\‘.—

BSS40  viansaging 10a 40 WX, 819 2.9 |,

BSS50  viansaging 10a 50 WM. 619 2.9 |,

rodougNTBsUanUIEIKSUSOdaaliN (Zu1o)

CONNCTE -

S R I.".r"-‘-'" ‘:/-._
ey FXP16  viegauangnyin 16 Nu. 819 50 4. L
by A o
FXP20  viegaua1egnyin 20 8. 819 50 .
FXP25  viagauantgnin 25 u. 619 40 4. - S B /.___
LS
FXP32  viagauanegnyn 32 4u. 61 25 «.
dogiane
m Description
CC16  Fhilaviadvsuvieaunn 16 N,
vy ) o
5 = ¥oed CC20 nEiaviednILvieunm 20 N, I | L~
\ . \ CC25  fFhilaviadvsuvieaunn 25 .
et e CC32 hfiaviaduiLvianunn 32 wu. Bl
P DN -
CC40  fhilaviad uiuviaaunm 40 4y - g’
» &
7 2 el e
CC50  Fhilaviadusuvieaunn 50 .
dgodoingeo
m Description
= e e
aore  BARnREIuazly
- AMTLYIeTWA 16 .
= "% B B Ve o =
~ nope  BARIREIuazily [ "L.--
AMILYIeTWA 20 N, “""‘J
s - 525 Hastainfeasauazsally P
- b, 3
%Y ™ FUFLIVRUUA 25 N Ly
. D B B Ve o o E
- dastainfeasauassally Jm g
O -l &,
FuFLviarLnA 32 1A, o
s W BG40 dastainfeasauassaly
! LR o o
A 1 1 AMFLYIDUUIA 40 WA, 3
;7 1 a o v o o
5050 Fastainfeasauassaily
AMFLYIBTUA 50 N,
docionawmv

.f
. COEECTTEEE

JC16 fasanan@mMTLviaII A 16 NN

3

Jc20 AAANANNNAMILYATWA 20 .

3

Jc2s AAANANNNAMILYATUA 25 .

.-.I'\.

JC32 dasananannedmiLviasunn 32 uu. N e
"
*, = JC40  desenanannedviLviaaunn 40 ya. Z
. i i
JC50  dasananenedmiuvianinm 50 wu. ‘ﬁ
T

Jodieaduuna » ,'#’I
\ % \ m Description

AD-2016 dasaanaunmvia 20 uu. i 16 wu.

AD-2520 dasiaanaunmvia 25 uu. i 20 wu.

AD-3225 dasiaanaunmvia 32 uu. i 25 uu.

Networking

Jociolfv

Part # Description

IE16

IE20

IE25

IE32

%

dasnlAe 16 un. AMTLYIETWIA 16 N,

dasnlAe 20 u. AMTLYIETWIA 20 N,

¥

dasnlAe 25 un. A mMTLieTWIA 25 N,

dasinlAe 32 un. A mMTLvieTWIA 32 N,

dodiona 3 Nv

Part # Description

IT16

IT20

IT25

IT32

dasiavia 3 119 suFa7 16 s,
fuiivinaunm 16 u.
dasiavia 3 119 guFaT 20 s,
fudlvinaunm 20 du.
dasiavia 3 119 quFaT 25 s,
fdlvinaunm 25 u.
Fasiavia 3 119 quFaR 32 s,
fuwdlvinaunn 32 wu.

naovinats (20 uu.) dwrsuriovuna 20 uu.

CB201

CB202

CB202/90 naasinane 2 ng 90° nFauetlanana

CB203

CB204

naassinane 1 na nFauetlanana

naasinane 2 na niauetlanana

naasinane 3 na nEauetlanana

naasinans 4 na nFauetlanana

naavainale (25 uu.) drxsunouna 25 Uu.

E

CB251

CB252

CB252/90 naasWnane 2 N9 90" wEaneTlanana

CB253

CB254

naasRnans 1 N9 niandtlanass

naaRnans 2 ne niandtlanass

naasnans 3 na niandtlanaas

naesRngne 4 11 wianetlanaas

widanaavinniosoeaneliniih

cL2025 chilansesinviadasane iy anaiad

Jodoaquuiaans

SR-2520 daseanaunnang 25 uu. lul 20 ua.

godioriosou

Part # Description

BF16

BF20

BF25

BF32

doinuAKkig Insaeumu&gouadldn

©
1AAANDADUIUA 16 NH.
o '
dRsaYaaauIuIA 20 WA
2 I
dRsaYaaauIuIn 25 WA

P!
1DAANDADUIUNA 32 NA.

ns : 0-2563-5000

WD UOLISIE O4UI-LWIOD UOWSIMMM//:dNY
$9110SS329Y uolje|je)suj

o
w



“The Best Way Networking Makes Everything Better”

http://www.bismon.com-info@bismon.com

Installation L Bismon

Communications Products

Accessories

OUTSIDE PLANT MATERIAL

Forged Eye Nut Angle Eye Nut

Cable Suspension Clamp
Rl o | Descrion | ' [ Part# | Descripton |

R 03000100  Cable Suspension Clamp 02030000  Forged Eye Nut 5/8"
0300 0200 Curve Suspension Clamp 0204 0000 Forged Angle Eye Nut 5/8"

0300 0100

Cable Lashing Wire & Lashing Wire Clamp Type D Pole Bracket
[ Pat# | Descripion | | Pat# | Descripon |
0900 0200 Lashing Wire Clamp Type D 1200 0100 Pole Bracket 8"
o5 13020100  Cable Lashing Wire 0.045" 350 m./Coil : 12010100  Pole Bracket 10"
Cable Suspension Clamp Hight Voltage Application :;g; glgg Eo:e graol;et 12
Description el peel
0500 0601 U-Type Riser Clamp
£ 2 05000800 Spool Insulator | Pat# | Descripon |
w g 05000900  Cable Suspension Clamp Omega Type (T 03000500  Riser Clamp 3"
2E [_," N - 09000400  U-Clamp 3/8" 03000600  Riser Clamp 4"
= -
28 Double Arming Bolt Fig.8 Cable Clamp PA296
< ¢ -\ 0100 0100 Double Arming Bolt 5/8"x12" 0300 0400 Figure (8) Cable Clamp PA 296
St 01000200  Double Arming Bolt 5/8'x14" Span Clamp Type C
=3 Machine Bolt t \*i
(2] —n
g2 | Paié | Desoripon 08000100 Span Clamp Type O
=§- \ 01020800  Machine Bolt 5/8'x12" U Boil with LPiate
01020900  Machine Bolt 5/8x14" tj'\ o
| Part# |
4 "-‘N"‘ 0102 1000 Machine Bolt 5/8"x16" 1204 0900 U-Bolt. L-Plate 60 LB
Cable Extension Arm Strand Ground c|amp
| Pats | Desopion Pt | Deswpion
M3 06000100  Cable Extension Metal Arm M1 03000300  Strand Ground Clamp 1/2"
sz ‘A 06000200  Cable Extension Metal Arm M2 Stainless Steel Band & Buckle
) _—
i em— OS000S00 - Cablo Extension il A s SO Pt | oesobion |
e 1o xtension Arm 2'x2'%57.5 om. /13030100  Stainless Steel Buckle 1/2"
Aluminium Suspension Clamp - 13030200  Stainless Steel Band 1/2"
[ Pat# | Descripton | Preformed
1206 0101 Aluminium Suspension Clamp m
for Cable Dia. 15mm. 15010200 Preformed Guy Grip Deadend 6M
Galvanized Steel Strand 15010300  Preformed Guy Grip Deadend 10M
N Pt | Descripion | S 15020200 Preformed Faise Deadend 6M
15000100  Galvanized Steel Strand 4M : 15020300  Preformed False Deadend 10M
\ 1500 0200 Galvanized Steel Strand 6M 1503 0200 Preformed Strand Sp||ce 6M
1500 0300 Galvanized Steel Strand 10M 1503 0300 Preformed Strand Splice 10M
OFC Hook Bolt 1504 0200 Preformed Guy Grip for Insulator 6M
Comfef—s | Pat# |  Descripion | 15040300  Preformed Guy Grip for Insulator 10M
0801 0500 OFC Hook Bolt 5/8"x12" Drop Wire c|amp
ST e ororcasoe . P | oesopion |
Con 08010700  OFC Hook Bolt 5/8'x16 - 20000100  Drop Wire Clamp @ g1lld
o ook 12040300  Short Hook With Two Nuts ”» 20000101 Drop Wire Clamp & s1lFeiaena
O [ele]
Hook Bolt ' 20000200  Drop Wire Clamp o g1/l
[ Pat# | Descripion | 20000201 Drop Wire Clamp #in il
08000300  Hook Bolt 3/8"x12" 20000202  Drop Wire Clamp @dw g/la
M" 0800 0400 Hook Bolt 3/8"x14" Rachet Puller
=" 00600 Hookok 316 Re?
Aluminium Dead End —— 2500 1500 Rachet Puller 1.5 Ton
. [ Pat# | Descripton | Safety Belt
12060300 Aumini Dead g RSN coi | Desoipion
Square Washer 2500 1600 Safety Belt HC-113
[ partd | Desorpon | 25001700 Safly Bt HC-27
- - 0701 0000 Square Washer 1/2" N Optical Fiber Cable Clamp (Access Service)
07010100  Square Washer 5/8' | Pat# | Description |

2901 1611 OFC Clamp

158 resvudnslunisaauwadaelifesuddlimausasmih saenauaRanaafiinaannisiad.

Specification Subject to change without prior Notice.

or cal Nt to O
dainuAKLe Insaeumu&ouaaldn Tns : 0-2563-5000

Jeal




“The Best Way Networking Makes Everything Better”

http://www.bismon.com-info @bismon.com

o’ Bismorn Installation

Accessories

INDUSTRIAL PLUGS & SOCKETS

Uanagudow stanuwu TWIST IP44 IcnsulluuWvnsvasy suanuwu (Flang H76 x W75 mm.) 1P44
013-6V 16A, 230V, 3Pin, (2P+E), & 313-6V  16A, 230V, 3Pin, (2P+E), @

014-6V 16A, 400V, 4Pin, (3P+E), Auma 314-6V 16A, 400V, 4Pin, (3P+E), Auma

015-6V 16A, 400V, 5Pin, (3P+N+E), Auna 315-6V 16A, 400V, 5Pin, (3P+N+E), G

023-6V 32A, 230V, 3Pin, (2P+E), & 323-6V  32A, 230V, 3Pin, (2P+E), &

024-6V 32A, 400V, 4Pin, (3P+E), AA4 324-6V  32A, 400V, 4Pin, (3P+E), AuAY

025-6V 32A, 400V, 5Pin, (3P+N+E), ZHQLWN 325-6V 32A, 400V, 5Pin, (3P+N+E), aLLﬁN
@ Uanidaudow suanudh TWIST 1P67 Ichsuluuwvnsvasy stanud IP67 §
s | owpion CONTTTE
{ . . 0132-6V  16A, 230V, 3Pin, (2P+E), @1 . 3132-6V 16A, 230V, 3Pin, (2P+E), @ § )
— 0142-6V  16A, 400V, 4Pin, (3P+E), Aum ‘ 3142-6V 16A, 400V, 4Pin, (3P+E), U sy
b a v a Q
0152-6V  16A, 400V, 5Pin, (3P+N+E), AlAd ~ 3152-6V 16A, 400V, 5Pin, (3P+N+E), AlAd g S
02326V 32A, 230V, 3Pin, (2P+E), @i 3232-6V 32A, 230V, 3Pin, (2P+E), A S s
= = (x]
0242-6V  32A, 400V, 4Pin, (3P+E), ALAY 3242-6V 32A, 400V, 4Pin, (3P+E), ALAg g o
0252-6V  32A, 400V, 5Pin, (3P+N+E), AlAg 3252-6V 32A, 400V, 5Pin, (3P+N+E), Al § a8
2 =
2=,
$8
Uanidaudow suanudh TWIST P67 IANsuluUWINSvasy saanudh IP67 85
s | oo e | o
033-6 63A, 230V, 3Pin, (2P+E), @ 333-6 63A, 230V, 3Pin, (2P+E), @
034-6 63A, 400V, 4Pin, (3P+E), A 334-6 63A, 400V, 4Pin, (3P+E), ALA4
035-6 63A, 400V, 5Pin, (3P+N-+E), Auaq 335-6 63A, 400V, 5Pin, (3P+N+E), RAd
0436 125A, 230V, 3Pin, (2P+E), @ 344-6 125A, 400V, 4Pin, (3P+E), Alag
044-6 125A, 400V, 4Pin, (3P+E), AuAg 345-6 125A, 400V, 5Pin, (3P+N+E), ALAd
045-6 125A, 400V, 5Pin, (3P+N+E), ALad
ichsudeonawnv stanuwu TWIST P44 IchsuluuWvnsviday saanuwu (Hange HI97 x W80 mm.) IP44
Crane | oscoipton | pats | desopion |
P 213-6V  16A, 230V, 3Pin, (2P+E), A 4136V 16,230V, 3Pin, (2P+E), @i
; o146y 16A. 400V, 4Pin, (3P+E), Rusn 414-6V  16A, 400V, 4Pin, (3P+E), Aund
2156V 16A, 400V, 5Pin, (3P+N-+E), A | . 4156V 16A, 400V, 5Pin, (3P+N+E), RuAa

223-6V 32A, 230V, 3Pin, (2P+E), A = 423-6V 32A, 230V, 3Pin, (2P+E), Al
& 224-6V  32A, 400V, 4Pin, (3P+E), ALav \’ 4246V 32A, 400V, 4Pin, (3P+E), B

225-6V 32A, 400V, 5Pin, (3P+N+E), Aun 425-6V 32A, 400V, 5Pin, (3P+N+E), Auna

icnsudonawmy stanuth TWIST IP67 IAhsuluuwvnsvidev stariudh (Fange HI97 x W80 mm.) IP67

Cpans | Despion CPots |~ erpion

21326V 16A, 230V, 3Pin, (2P+E), A1 41326V 16A, 230V, 3Pin, (2P+E), &
\(‘) 21426V 16A, 400V, 4Pin, (3P+E), Ra ‘ . 4142-6V  16A, 400V, 4Pin, (3P+E), Runa
T 21526V 16A, 400V, 5Pin, (3P+N+E), AU 0 41526V 16A, 400V, 5Pin, (3P+N+E), Al
— - 2232-6V  32A, 230V, 3Pin, (2P+E), A1 4232-6V  32A, 230V, 3Pin, (2P+E), &1
L\‘Q 2242-6V  32A, 400V, 4Pin, (3P+E), Auav 4242-6V  32A, 400V, 4Pin, (3P+E), Auna
il 20526V 32A, 400V, 5Pin, (3P-N-E), A ‘ " 4252-6V  32A, 400V, 5Pin, (3P+N-+E), Auna

icnsudenawnv stanud TWIST IP67 IANSUIUUWVNSVREV stanud 1P67

233-6 63A, 230V, 3Pin, (2P+E), & 4336 63A, 230V, 3Pin, (2P+E), @
234-6 63A, 400V, 4Pin, (3P+E), Aumg 434-6 63A, 400V, 4Pin, (3P+E), GIN
235-6 63A, 400V, 5Pin, (3P+N+E), Auna 435-6 63A, 400V, 5Pin, (3P+N+E), Aung
243-6 125A, 230V, 3Pin, (2P+E), @ 443-6 125A, 230V, 3Pin, (2P+E), @
244-6 125A, 400V, 4Pin, (3P+E), Aumg 444-6 125A, 400V, 4Pin, (3P+E), Auna
245-6 125A, 400V, 5Pin, (3P+N+E), G 445-6 125A, 400V, 5Pin, (3P+N+E), G

Ue Networking

dainuAKg Insaeumudouacldn Tns : 0-2563-5000



Installation Accessories
http://www.bismon.com-info@bismon.com

(-]
(=7]

http://www.bismon.com-info@bismon.com

Installation

i

“The Best Way Networking Makes Everything Better’

o, Bismon

Communications Products

Accessories
POP-UP FLOOR SOCKETS
HaG O’ HaG O’
POP-UP Floor Socket-Outlets (AL) POP-UP Floor Socket-Outlets (AL)
Description Description
HPU-1AM Aluminium Alloy HPU-1602AW Aluminium Alloy
Square 120 x 120 mm. Rectangular L220xD120 mm.

POP-SLOW UP Floor Socket-Outlets (AL+SL)

Part # Description
HPU-1AMS Aluminium Alloy
Square 120 x 120 mm.

POP-UP Floor Socket-Outlets (AL)

Description
HPU-4AF Aluminium Alloy
Square 120 x 120 mm.
- POP-UP Floor Socket-Outlets (BR)
Description
HPU-4BW Brass

Square 120 x 120 mm.

POP-UP Floor Socket-Outlets (SS)
Description
Stainless Steel
Square 120 x 120 mm.

HPU-4SW

POP-UP Floor Socket-Outlets (AL)

Aluminium Alloy
Square 120 x 120 mm.

TPU-16AD

POP-SLOW UP Floor Socket-Outlets (AL+SL)

Description
Aluminium Alloy

Square 120 x 120 mm.

TPU-16ADS

== POP-UP Floor Socket-Outlets (BR)
=W Part# | Descripon |
' TPU-16BD Brass

Square 120 x 120 mm.

POP-UP Slim Floor Socket-Outlets (BR)

M Pair | Desoripon
TPU-2BD Brass
Square 120 x 120 mm.

POP-UP Slim Floor Socket-Outlets (SS)

Part # Description
TPU-2SD Stainless Steel

Square 120 x 120 mm.

POP-UP Floor Socket-Outlets (BR)

HPU-7BW Brass
Round 150 mm.

OPEN COVER FLOOR SOCKET-OUTLETS (SS)
‘ " s | Desorpion |
.

HOC-146/P Stainless Steel (2 gang)
Square 146 x 146 mm.

ull =
anunsndawildonu:idaudan

-

Dealer for call ount to orde
doinuAKie Inseeumusgouad

Tns : 0-2563-5000

ROUND Type Floor Socket-Outlets (BR)
Description
TRF-130BD Brass
Round 130 mm.

Plastic Floor Socket-Outlets (PA)

Description

PA Plastic
Rectangular 250x180x95 mm.

TPF-623PD

Plastic Floor & Table Socket-Outlets (PA)
Description
PA Plastic

Round 110 mm.

TPU-610PD

POP-UP Floor Socket-Outlets (AL)

s [ Desoipion |

E HTT-621AF/S Aluminium Alloy Silver Coated

POP-UP Floor Socket-Outlets (AL)
Description

Ractangular 265x130x62 mm.

HTT-621AF/B

Aluminium Alloy Black Coated
Ractangular 265x130x62 mm.

Spring-Up Floor & Wall Socket-Outlets (SS)

Part # Description

Stainless Steel
Ractangular 2"x4"

HSU-10SF

Spring Up Floor Socket-Outlets (SS)

Description
' "‘ HSU-8SF

Stainless Steel
Square 4"x 4"
Slide-In Type Floor Socket-Outlets (SS)
Stainless Steel
Round 140 mm.

HSI-12SW

aunsnd POP UP ananunsn Tanudko auldcavd

- aUnsnd EEXA[r<y] su DECO

- ounsni 23 su MIRACLE

- gunsnd NATIONAL  su FULL COLOR

- gUnsnd PANASONIC su WIDE SERIES

- aunsnd BTICINO su MAGIC ADVANCE

158 esdnslunsaauwladalifesuddlimsussmih aaenauaRanaafiinaannisia.
Specification Subject to change without prior Notice.




“The Best Way Networking Makes Everything Better”

http://www.bismon.com-info@bismon.com & g3 23 B3

o Bismon

Communications Products

Installation

Accessories

HIGH DENSITY POLYETHYLENE (HDPE) CONDUIT

vielwaiaiiaugiannamuuiugs (HDPE) vite i3 wananianiniefimudauiaqnanain@dimnsmien
anlipnuauiRmsiEnduacniiauddoiiefiansaiimdiin uazsnmldlsslonlunuwietasaein
¥, anenadind, anelleufioiuas uazanedoyayiniine Enﬁﬁmiwﬁmﬁﬁu ﬁﬁ@mwwLLammmzmﬂzgqmn%u
’LmammmmunﬁmwmLﬁ@'lﬁd”m@Tw?\mﬁﬁummﬁqnm ‘Lumm?qmmul,m:Lﬂ?ﬁﬂnﬁmﬂmﬁuﬁw?ﬂmwLmﬁ“jmﬁ'ﬂ

minsedeasiunsiigaaiuadadmiudansualiiniii fennniigeteaanosuusiilihgegai 00Ky
Auantesaeaelninilaniue: (SEETINDARD

- vio¥auanelrhenaunddiuuiiadrusensiadteusniszamnisldn azmnuazaesdtsemsdentiss

- ﬁﬂ?ﬂﬂ@ﬂﬁ1ﬂﬂ1ﬁ‘uuﬂmﬁumquﬁnma;ﬁl,l,ﬁi 25 113, AUTNTUA 160 1. (Class 1) arxnsasiwduanls

- mamusienisiiangen dag HOPE laivindffeniumsiaiivaneaiisi Wl iRaatiuaciengmsldamenau

P

TIS 982-2548

TISTR

QMS 007

HIGH DENSITY POLYETHYLENE (HDPE) CONDUIT

%
°
o . Y e . P Y o s =
- B ndaneugeaninsatineldR azpansandlumsiias dendiveriingu was MdeUnsofieand @
a | o o Lo a ' g =]
- - fnmeluieFuuinaaussd@eamulunisieasnelalinldasnanuaslaivinlfRnuademeseansuih iz
S ==
25
=
ix
20
e 9
e T @
neseaaalu uvrasgrumsluliluasnaso g e
CLASSI/PN 6 CLASS I/ PN 4 g o
e [ e || P =
20 1.6 . 3®»
2 18 -
32 19 13 87
40 23 16
50 29 20
63 36 24
75 43 29
90 5.1 35
110 63 42
125 71 48
140 8.0 54
160 9.1 62
180 102 70
200 114 77

L

danagauia A dasaginia B dalAdania o
25 25 25
32 2 32
40 40 40
50 50 50
63 6 63
75 75 75
90 90 %
110 110 110
125 125 125
140 140 140
160 160 160
180 180 180
200 200 200

uuu A laausaseudngviaiia

uuy B Maansaseuinaviaila

Networking

uazdiasainaenlniin

dalAsiia 90° afinuuvindnaien




“The Best Way Networking Makes Everything Better”

http://www.bismon.com-info@bismon.com

Installation e EE

. Communications Products
Accessories

ELECTRICAL FITTING INSTALLATION

SN -

gles NS W0 e

vt CONDUIT EMT, IMC, RSC uazqiinsni

oo EtL e

Installation Accessories
http://www.bismon.com-info@bismon.com

(=]
(-]

CONDUIT OUTLET
/ . . g I I : : HANDY & SQUARE BOXES
RAIN TIGHT FLEXIBLE CONDUIT CONNECTOR FLEXIBLE CONDUIT/CONNECTOR
——
| '

C-CHANEL HANGER ROD PULL BOX WALL MOUNTING CABINETS

CABLE TRUNKING SYSTEM ACCESSORIES

T ai&

sunendiazgunal
13 seanuAnslunsuasuuadaglifesudslimeudamiin naanauanuRanaIaNRAINNNTANA.
Specification Subject to change without prior Notice.

35000



